7.4 Properties of Logarithms
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Condense into a single loga

rithm. Simplify if possible.

1. log, 7 +log, 4

2. log25+log4

3. log, 2x + log, 4x?
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Expand using the product property.
5. log;2xy 6. log, abc

4. log9x
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Condense into a single loga

rithm. Simplify if possible.

7. logz 24 —log; 8

8. log, 15 —log, 15

9. log,x? —logy x?
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Expand using the quotient property.
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Condense into a single loga

rithm. Simplify if possible.

13.5-log, 2
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14.7 - log, x
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Expand using the power property.

16.log, 8’ 17.3 - log4®*-1 18.log, Vw <\
7’0%‘9? '3(x~:)lo®‘t = 09, W
o
2\

Scanned with CamScanner




AR TR

Lres P ety
eiana 1R

Py '.;,-, Li gat L rady & - e
-14‘).(..‘..‘:.;( p L or BN LR APy e £ 4 Bikaei

Putting It All Together

CONDENSING LOGS

Directions: Rewrite as a single logarithm. Simplify is possible.

19. 2-log6 —log9

log L? -lay 9
O[%% 3‘0;?-——103‘-[

20.4-logsa+2-log, b

log, a+ 10g4b .
Jog, a’h”

21. 7 -log,u—3 -logﬁif
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22-10g2 15 + lng 4 - logz 6

logll‘g(‘:j = ldjz QGO—
09,10

23.logs 4 +logy y +1logs49. </ !
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24.% (logs 8 + logs 27) —logs 3
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logeae ~1oggs 3
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log ( ~log .3 = 109, %= [oq
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25.3> logg 4 —log, 32
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J0g,04-109,3> = Jog, b

log, 2 = |

26.2 - log6 — %]og 16 +log3
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EXPANDING LOGS

Directions: Expand each logarithm.

27. logg(xyz*) 3
109, % + log, v tlog, 2

09, x +log,Y + 409, E

28.108(5) 109,07 ~Jogy b
9/0‘34&’ ’0‘3]**5

29. logy(q*r?)*

2109 (3M™)

2(loq gt +103,Y")

2 (41044 4 v 2103, r)
8104, 4 +4log v §

30106: (%) 2(log 2=
R(109.4 -109,2%)

25,4 - 5log,2 )
2leg,y - log, 28

31 logv7x®  |og, (9%*)
Jog 1= +l0g x3=
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